IMPORTANT: PLEASE KEEP THIS INSTRUCTION MANUAL FOR FUTURE REFERENCE !

Copyright © 2011 by E&G Classics, Inc. All right reserved. The reproduction or utilization of this work in any form or any electronic, mechanical, or other means, no known or hereafter invented,
including xerography, photocopying, and recording, and in any information storage retrieval system is forbidden without written permission of owners.

2009-12 Ford F-150 E-Power Mesh Grille

Upper Overlay
Black Mesh Part #1045-0104-09EP / Chrome Mesh Part #1045-0104-09EPC

Automotive grade masking tape, 10mm and 9mm socket and wrench, large flat blade screwdriver, Torx T-25
TOOLS REQUIRED bit, vibrating saw or jig saw, disc grinder, 9mm wrench, flat or semi-gloss black paint, glass cleaner and 01/06/2012

soft, clean cloths.

Notes to the Technician/Installer:
E&G is proud to present this package to you and reminds you that for technical information, contact technical assistance at 410-381-4900. Do not attempt the installation
of any E&G product without first reading the detailed instructions. E&G Classics will not warrant damaged parts or the vehicle due to altered installation instructions.

1. Apply masking tape to the painted edge of the hood surround-
ing the grille as shown.

2. Open the hood and use a 10mm socket and ratchet to remove
the outer two (2) hex nuts securing the top of the factory grille
to the hood.

3. Use a 10mm socket and ratchet to remove the inner four (4) hex
nuts securing the top of the factory grille to the hood.

4. Use a 10mm socket and ratchet to remove the lower two (2) hex
bolts securing the bottom of the factory grille to the hood sup-
port brackets.

Z=JIADE N
AMERICA Copyright 2012 by E&G Classics, Inc.

EXPERT QUALITY CRAFTSHANSHIP

Visit us online today at www.egclassics.com




5. Pull out on either upper corner of the factory grille and pull firmly
enough to undclip the top edge. There are a total of 5 retaining clips
across the top edge.

6. Carefully remove the factory grille from the hood.

7. Apply masking tape to the painted or chromed factory grille sur-
round and the factory emblem if the emblem is to be reused.

8. Remove the 10mm hex speed nuts securing the emblem to the fac-
tory grille.

9. Use aflat blade screwdriver to pry up onto the emblem retainers
(as shown) and pull the emblem off of the factory grille.

10. Use a torx T-25 bit to remove the lower metal reinforcement from
the bottom of the factory grille.

Copyright 2012 by E&G Classics, Inc.

Visit us online today at www.egclassics.com



11. Use a vibrating saw or a jig saw to cut through the factory grille
across the bottom supports (as shown at a 45 degree angle).

12. Use a vibrating saw or a jig saw to cut through the factory grille
across the upper supports (as shown at a 90 degree angle).

13. Use a sharpie to draw a line around the side sections of the factory
grille. This is where you will cut through the grille insert to seper-
ate it from the factory grille surround.

14. It may be necessary to cut through the grille from the front at the
corners if using a vibrating saw. Once completely cut through, re-
move the center section of the factory grille.

15. Use a disc grinder to smooth the inside edge of the factory grille
surround, making sure there are no rough edges that would be
visible through the mesh grille.

16. Reinstall the metal reinforcement removed in Step 10.

Copyright 2012 by E&G Classics, Inc.

Visit us online today at www.egclassics.com



17. Use flat or semi-gloss black paint to black out the factory torx
screw heads and the mounting bosses. They will be visible through
the mesh grille. Remove the protective masking tape from the fac-
tory grille surround at this time.

18. Align the modified factory grille surround over the back of the E&G
E-Power mesh grille and align the outer corner U-shaped grille re-
tainers and install #8-32 ESNA half nuts. Tighten until the grille
begins to make contact with the factory grille surround only at this
time.

19. Align the U-shaped grille retainers and #8-32 ESNA half nuts
onto the top mounting studs. Tighten only until the grille begins
to make contact with the factory grille surround at this time.

20. Align the U-shaped grille retainers and #8-32 ESNA half nuts onto
the lower outer corner studs. Tighten only until the grille begins to
make contact with the factory grille surround at this time.

21. Install the U-shaped grille retainers and #8-32 ESNA half nuts
onto the studs across the bottom of the grille. Tighten only until
the grille begins to make contact with the factory grille surround
at this time.

22 Install the U-shaped grille retainers and #8-32 ESNA half nuts onto
the studs on the sides of the grille. Onice all the grille retainers have
been installed, finish tightening all ESNA half nuts.

Copyright 2012 by E&G Classics, Inc.

Visit us online today at www.egclassics.com



[

23. Install the supplied .045" x 1” double faced tape to the back of the
factory emblem.

24. Peel off the backing from the double faced tape and align the em-
blem onto the emblem mounting plate and press it firmly enough
to set the tape.

25. Grind flush the original mounting studs and the alignment pin
from the back of the emblem that protrude through the emblem
mounting plate.

26. Carefully align the emblem assembly, centering it onto the mesh
grille and install the supplied large black plastic washers and #8-32
ESNA half nuts.

27. Paint all studs and ESNA nuts that could be visible through the
mesh grille with flat or semi-gloss black paint prior to grille installa-
tion.

28. Paint everything inside the factory grille opening not already black
that could be visible through the mesh grille with flat or semi-gloss
black paint prior to grille installation.

Copyright 2012 by E&G Classics, Inc.

Visit us online today at www.egclassics.com



29. With the hejp of an assistarit, align the assembled grille back onto 30. Reinstall the factory 10mm hardware removed previously to finish
the hood, making sure all of the upper alignment clips fit back into the grille installation.
the slots across the top edge of the hood. Push firmly to seat the
factory clips. Remove the protective masking tape across the top
edge of the hood at this time.

E&G Classics Warranty Information:

E&G Classics, Inc. warrants its chrome parts and products to be free from defects in material, workmanship or finish for Thirty-Six (36) months from the date of shipment by E&G. This
warranty is limited to the repair or replacement, at E&G Classics option, of the defective part or product.Full E&G Classics warranty information is available online @ www.egclassics.com.
Just click on the product warranty icon.

For E&G Classic Product Returns:

Please contact the authorized E&G Classics Dealer where you purchased our product from in regards to any workmanship or warranty claims. All items returned to E&G
Classics must have a return authorization number issued by us for inspection or a defective product and or warranty issue. All merchandise sent back to E&G Classics
without proper paperwork or authorization will be rejected and returned.

Black Mesh Part #1045-0104-09EP Chrome Mesh Part #1045-0104-09EPC

Quantity: | Description: Part Number: Quantity: | Description: Part Number:
1 E-Power Black Mesh Grille FRRR 1 E-Power Chrome Mesh Grille il
1 Emblem Mounting Plate FRRR 1 Emblem Mounting Plate FRRR
1 Installation Hardware Kit 1388-1902-11 1 Installation Hardware Kit 1388-1902-11
12 U-Shaped Grille Retainers 1999-0719-00 12 U-Shaped Grille Retainers 1999-0719-00
3 L-Shaped Grille Retainers 1999-0718-00 3 L-Shaped Grille Retainers 1999-0718-00
2 Large Black Plastic Washers 1999-0264-00 2 Large Black Plastic Washers 1999-0264-00
14 #8-32 ESNA Half Nuts 1999-0065-00 14 #8-32 ESNA Half Nuts 1999-0065-00
2 045" x 1" Double Faced Tape 3004-9244-92 2 .045" x 1” Double Faced Tape 3004-9244-92

E-POWER,

......

MADE IN

AMERICA

Copyright 2012 by E&G Classics, Inc. Visit us online today at www.egclassics.com



